%@ MARENO NF74G15

ENJOY YOUR KITCHEN

3/1/2021 1:37:38 PM This document is exclusive property of MARENO ALI Group S.r.l. and should not be distributed, reproduced, into any other Page 1 0of 3
format without prior permission of MARENO ALI Group S.r.l. - Specifications subject to change without prior notice



&3 MARENO

ENJOY YOUR KITCHEN

Pos Code

0001
0002
0003
0004
0005
0006
0007
0008
0009
0010
0011
0012
0014
0015
0016
0017
0018
0019
0020
0021
0022
0023
0024
0026
0027
0028
0029
0030
0031
0032
0033
0034
0035
0036
0038
0039
0040
0041
0042
0043
0044
0045
0046
0047
0048
0049
0050

3/1/2021 1:37:38 PM

CR0686180
CR0O686210R
MACMO073100
MA1891700
MA1950100
MA1888300
MACM040800
MA1888400
MA1936400
MA673500
MA673600
CR0508560
CR0689520
CR0979080
CR0797310
CR0580170
CR1094360
CR0935250
CR0585160
CR0588950
MACM136000
MA1936100
MA1936400
MA6086113
MACM020409
CR0508630
MA1033700200
MACM040400
MA417810
MA459300
MA1888200
CR0686200
MA1394700
CR0689040
CR0689530
CR0689550
CR0684490
CR0689660
MACM097900
MACM012401
CR0580640
MA1033600
MA1033700
MA15119299
MACM097701
MA86720
MA1326500

NF74G15

Description

BASKET [C] FRYER 700

FRYER COVER [C] 15L.900
HANDLE [C] MT/105
CONNECTOR [C] THERMOCOUPLE
THERMOCOUPLE [C]

IGNITOR [C]

PILOT [C]

CONNECTOR [C] IGNITOR CLAMPING
IGNITOR CABLE SET [C] L. 800

NUT [C] M10X1

BICONE [C] D. 4

SHELF GRID [C] FRYER FQG 41/61
PIPE [C] FRYER 15L 700 PILOT
VALVE [C]

KNOB JOINT [C]
CRUSCOTTO FRIGGITRICE GAS M40
KNOB [C] VALVE D. 10

BUSH [C]

METAL LABEL [C]

EXTENSION [C] DRAIN PASTA COOKER 900
PROTECTION [C] PIEZO UNIT

PIEZO IGNITOR [C]

IGNITOR CABLE SET [C] L. 800
FOOT ASSEMBLY [C] H. 200
AERATOR [C]
CONNECTOR [C] NOZZLE HOLDER
NUT [C] M14X1

GRAIN [C]

BICONE [C] D. 12
CONNECTOR [C] PIPE /12

CAP [C]

PIPE [C] PILOT FRYER 15LT

BICONE CONNECTOR D. 4MM

LEFT SIDE PANEL [C] MONOBLOCK 700
PIPE [C] FRYER 15L 700 BURNERS
RAMPA FRIGGITRICE 700 M40
BURNER [C] FRYER 15L

BACK PANEL [C] MONOBLOCK M40 700
GASKET OR [C] THERMOSTAT BULB
NUT [C] M10X1

PROTECTION GRID [C] SMOKE DRAIN M40
PILOT LAMP [C]

FRAME [C]

GRAIN [C]

THERMOSTAT [C] 230A°C

BICONE [C] D. 10

NUT [C] M16X1,5

This document is exclusive property of MARENO ALI Group S.r.l. and should not be distributed, reproduced, into any other

format without prior permission of MARENO ALI Group S.r.l. - Specifications subject to change without prior notice

Page 2 of 3



&3 MARENO

ENJOY YOUR KITCHEN

Pos Code

0051
0902
0902
0902
0902
0902
0902
0902
0902
0903
0903
0903
0903

3/1/2021 1:37:38 PM

Description

NF74G15

CR0686250 SUPPORT [C] BASKET FRYER 15L
MA1422400 NOZZLE [C] D. 115

MA1513000 NOZZLE [C] D. 125

MA1931300 NOZZLE [C] D. 205

MA2715400 NOZZLE [C] D. 135

MA5152800 NOZZLE [C] D. 440

MA5164700 NOZZLE [C] D. 215

MA707200 NOZZLE [C] D. 190

MA795800 NOZZLE [C] D. 220

CR0410100 NOZZLE [C] D. 30
MA1033719700 NOZZLE [C] D. 41 PILOT
MA1033719800 NOZZLE [C] D. 75 PILOT
MA1874700 NOZZLE [C] D. 25 PILOT

This document is exclusive property of MARENO ALI Group S.r.l. and should not be distributed, reproduced, into any other Page 3 of 3

format without prior permission of MARENO ALI Group S.r.l. - Specifications subject to change without prior notice



